CARBOHYDRATE COUNTING

Counting the amount of carbohydrate in the meal. This will help us adjust the dose of
pre-meal insulin accordingly.

Example:

1 katori of rice = 15 gm carb.

1 katori atta =15 gm carb.

1 slice of bread = 15 gm carb.

1 apple (medium size) = 15 gm carb.

1 gulab jamun = 15 gm carb.

100 ml milk = 5 gm carb.

INSULIN-TO-CARBOHYDRATE RATIO (ICR)
Amount of carbohydrate that will be neutralized by 1 unit of insulin

ICR =500/TDD
TDD (Total Daily Dose) = Basal insulin (lantus) + Premeal insulin (Regular/Lispro)

Example:
TDD = 50 units, ICR =500/50=10
Meaning 1 unit of insulin will neutralize 10 gms of carbohydrate

INSULIN-SENSITIVITY FACTOR (ISF) / CORRECTION FACTOR

Amount of excess glucose that will be neutralized by 1 unit of regular/rapid-acting
insulin.

Desired pre-meal blood glucose = 70-130 mg/dl

Any extra glucose above 130 mg/dl needs to be neutralized. For this we need ISF.

ISF = 1800/ TDD

Example:

TDD=50 units, ISF=36 (approximately 40)

Meaning every 40 mg/dl blood glucose above 130 mg/dl will be neutralized by 1 unit
of insulin.

Try to Solve

Master X is on 10 units of lantus, 10 units of lispro each before breakfast, lunch,
dinner

ICR=77?
ISF= 277

He is about to take his lunch containing 50 grams of carbohydrate. Pre-lunch blood
glucose is 310 mg/dl.

How many units of lispro should he inject?
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